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SBE 19plus

S>*ds

SCrl6, 6026, 2.2c, 5890, 3, 21, N
S>time out

SBE 19plus

S>ds

SBE 19plus V 2.2c¢c SERIAL NO. 6026 07 Aug 2011 08:24:56
vbatt = 13.9, vlith = 8.6, ioper = 62.5 ma, ipump = 48.4 ma,
iext0l = 39.8 ma, iext2345 = 0.3 ma

status = not logging
sample interval = 1800 seconds, number of measurements per sample = 4
samples = 5890, free = 3127354 {

mode = moored, run pump during sample, delay before sampling = 5.0 secoﬁds Q
transmit real-time = no

battery type = alkaline, battery cutoff = 7.5 volts

pressure sensor = strain gauge, range = 508.0

SBE 38 = no, OPTODE = no, Gas Tension Device = no
Ext Volt 0 = yes, Ext Volt 1 = yes

Ext Volt 2 = yes, Ext Volt 3 = no

Ext Volt 4 = no, Ext Volt 5 = no

echo characters = ves

output format = raw HEX

S>setting time to UIOOOOOUaldate/time to utc
<ERROR type='INVALID COMMAND' msg='RCVD:setting date/time to utc'/>
S>ddmmyy=070811
570894B016F37108D7B649C50411056E000215CF2B
S>mmddyy=080711

S>hhmmss=162710

S>ds

SBE 19plus V 2.2c SERIAL NO. 6026 07 Aug 2011 16:27:11

vbatt = 13.8, vlith = 8.6, ioper = 62.5 ma, ipump = 47.2 ma,
iext01l = 39.4 ma, iext2345 = 0.4 ma

status = not logging

sample interval = 1800 seconds, number of measurements per sample = 4

samples = 5890, free = 3127354

mode = moored, run pump during sample, delay before sampling = 5.0 seconds
transmit real-timé = no

battery type = alkaline, battery cutoff = 7.5 volts
pressure sensor = strain gauge, range = 508.0

SBE 38 = no, OPTODE = no, Gas Tension Device = no
Ext Volt 0 = yes, Ext Volt 1 = yes

Ext Volt 2 = yes, Ext Volt 3 no

Ext Volt 4 = no, Ext Volt 5 = no

echo characters = yes

output format = raw HEX

S>ds

SBE 19plus V 2.2c SERIAL NO. 6026 07 Aug 2011 16:28:58
vbatt = 13.8, vlith = 8.6, ioper = 62.5 ma, ipump = 54.9 ma,
iext01l = 39.3 ma, iext2345 = 0.5 ma

status = not logging

sample interval = 1800 seconds, number of measurements per sample = 4
samples = 5890, free = 3127354

mode = moored, run pump during sample, delay before sampling = 5.0 seconds
transmit real-time = no

battery type = alkaline, battery cutoff = 7.5 volts

pressure sensor = gstrain gauge, range = 508.0

SBE 38 = no, OPTODE = no, Gas Tension Device = no



Ext Volt 0 = yes, Ext Volt 1 = yes

Ext Volt 2 = yes, Ext Volt 3 = no

Ext Volt 4 = no, Ext Volt 5 = no

echo characters = yes e
output format = raw HEX

S>ts

05CD950B556008298F55190431055F000015D179D8
S>outputformat=3

S>ts
20.2807, 0.00858, 0.009, 0.0831, 0.1045, 0.0003, 07 Aug 2011 16:29:29
S>ts
20.3692, 0.00850, 0.008, 4.9379, 4.8984, 0.0002, 07 Aug 2011 16:29150

S> ote:loUnote: this one is logging channel 2 but I'm just going to leavile
it because hllwe hillots of space

<ERROR type='INVALID COMMAND' mgsg='RCVD: note: this one is logging channel 2
but i'm just going to leave it because we lots of space'/>

S>initlogging

this command will change the scan length and/or initialize logging

repeat the command to verify

initlogging

S>ds

SBE 19plus V 2.2c SERIAL NO. 6026 07 Aug 2011 16:31:28
vbatt = 13.8, vlith = 8.6, ioper = 62.5 ma, ipump = 52.9 ma,
iext0l = 40.9 ma, iext2345 = 0.4 ma

status = not logging

sample interval = 1800 seconds, number of measurements per sample = 4
samples = 0, free = 3133244

mode = moored, run pump during sample, delay before sampling = 5.0 seconds
transmit real-time = no

battery type = alkaline, battery cutoff = 7.5 volts

pressure sensor = strain gauge, range = 508.0

SBE 38 = no, OPTODE = no, Gas Tension Device = no

Ext Volt 0 = yes, Ext Volt 1 = yes

Ext Volt 2 = yes, Ext Volt 3 = no

Ext Volt 4 = no, Ext Volt 5 = no

echo characters = yes

output format = converted decimal

output salinity = no, output sound velocity = no

S>outputformat=1

S>ds

SBE 19plus V 2.2c¢c SERIAL NO. 6026 07 Aug 2011 16:32:20
vbatt = 13.8, vlith = 8.6, ioper = 62.5 ma, ipump = 53.9 ma,
iext01l = 40.1 ma, iext2345 = 0.4 ma

status = not logging

sample interval = 1800 seconds, number of measurements per sample = 4
samples = 0, free = 3133244

mode = moored, run pump during sample, delay before sampling = 5.0 seconds
transmit real-time = no

battery type = alkaline, battery cutoff = 7.5 volts

pressure sensor = strain gauge, range = 508.0

SBE 38 = no, OPTODE = no, Gas Tension Device = no

Ext Volt 0 = yes, Ext Volt 1 = yes

Ext Volt 2 = yes, Ext Volt 3 = no

Ext Volt 4 = no, Ext Volt 5 = no

echo characters = yes

output format = converted HEX

S>startddmmyy=070811



S>starthhmmss=200000

S>ds

SBE 19plus V 2.2c SERIAL NO. 6026 07 Aug 2011 16:33:09

vbatt = 13.8, vlith = 8.6, ioper = 62.4 ma, ipump = 51.8 ma, -
iext01l = 39.9 ma, iext2345 = 0.3 ma

status = not logging

sample interval = 1800 seconds, number of measurements per sample = 4
samples = 0, free = 3133244

mode = moored, run pump during sample, delay before sampling = 5.0 seconds
transmit real-time = no

battery type = alkaline, battery cutoff = 7.5 volts

pressure sensor = strain gauge, range = 508.0 !
SBE 38 = no, OPTODE = no, Gas Tension Device = no

Ext Volt 0 = yes, Ext Volt 1 = yes

Ext Volt 2 = yes, Ext Volt 3 = no

Ext Volt 4 = no, Ext Volt 5 = no

echo characters = yes

output format = converted HEX

S>startlater

start logging at = 07 Aug 2011 20:00:00, sample interval = 1800 seconds

>



0958-sogs-k lithium pack, rs232
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I~ Enable serial output / TellT ale

Name; ]DSES_K [maz 6 char's)

Comments; (max 120 char's)

0958-50G5-K Lithium Pack
Start: August 7, 2011 @ 2000 UTC
R5239

Deployment :0958_K

Current time : 8/7/2011 15:56:28
Startat :8/7/2011 20:00:00
Comment:

0958-SOGS-K Lithium Pack

Start: August 7, 2011 @ 2000 UTC
RS232

Measurement interval (s) : 600



Average interval  (s) : 120
Blanking distance  (m) : 0.35
Measurement load (%) : 4

Power level : HIGH
Diagnostics interval(min) : 1440
Diagnostics samples 120
Compass upd. rate  (s): 2
Coordinate System :ENU
Speed of sound  (m/s) : MEASURED
Salinity (ppt) : 32

Analog input 1 :NONE

Analog input 2 :NONE

Analog input power out : DISABLED
File wrapping : OFF

Serial output/TellTale : OFF

Assumed duration (days): 120.0
Battery utilization (%) : 166.0
Battery level (V):11.3
Recorder size (MB) : 25
Recorder free space (MB) : 24.973
Memory required  (MB): 0.8
Vertical vel. prec (cm/s) : 1.7
Horizon. vel. prec (cm/s) : 1.0

Instrument ID : AQD 0958
Head ID : AQD 0624
Firmware version :1.13

Aquadopp Version 1.31
Copyright (C) Nortek AS

Aquadopp

'j Successful deployment!
.

Data recording will start in 0 days,
4 hours and 3 minutes from now.

Please disconnect the instrument
from the PC before proceeding.

Deployment log file:
75)\50GS-K\0958-s0gs-k.log

%]
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S>ds

SeacatPlus V 1.3a SERIAL NO. 4197 07 Aug 2011 09:43:02
vbatt = 13.8, vlith = 8.7, ioper = 62.4 ma, ipump = 75.3 ma, o
iext01 = 5.1 ma,

status = not logging

sample interval = 4500 seconds, number of measurements per sample = 4

samples = 2357, free = 490608

mode = moored, run pump during sample, delay before sampling = 35.0 seconds
transmit real-time = no

battery type = ALKALINE, battery cutoff = 7.5 volts

pressure sensor = strain gauge, range = 1450.0 {

SBE 38 = no, Gas Tension Device = no

Ext Volt 0 = yes, Ext Volt 1 = no, Ext Volt 2 = no, Ext Volt 3 = no

echo commands = yes

output format = raw HEX

S>dh

hdr 1 05 Apr 2011 16:00:01 samples 1 to 999, int = 4500, stop = logging
hdr 2 27 May 2011 18:00:40 samples 1001 to 1999, int = 4500, stop = logging
hdr 3 18 Jul 2011 20:00:40 samples 2001 to 2357, int = 4500, stop = stop cmd
S>dcal

SeacatPlus V 1.3a SERIAL NO. 4197 07 Aug 2011 09:43:10
temperature: 10-sep-10
TAQ = 1.175077e-03

TAl 2.835483e-04

TA2 = -2.215886e-06

TA3 2.239497e-07

TOFFSET = 0.000000e+00
conductivity: 10-sep-10

G = -9.893223e-01

H = 1.435395e-01

I = -4.598390e-04

J = 5.513806e-05

CFO 2.632691e+03

CPCOR = -9.570000e-08

CTCOR = 3.250000e-06

CSLOPE = 1.000000e+00
pressure S/N = 1181, range = 1450 psia: 07-sep-10

PAO = 1.884208e-01

PAl = 4.441794e-03

PA2 = -1.699950e-11

PTCAO = 5.218090e+05

PTCAl = 2.248812e+00
PTCA2 = -1.183399%e-02
PTCBO = 2.487237e+01
PTCBl = 1.475000e-03
PTCB2 = 0.000000e+00
PTEMPAO = -8.007963e+01

PTEMPAl = 4.653020e+01

PTEMPA2 = -4.160928e-02

POFFSET 0.000000e+00
volt 0: offset -4.634667e-02, slope
volt 1: offset -4.653000e-02, slope
volt 2: offset -4.658333e-02, slope
volt 3: offset -4.643000e-02, slope

EXTFREQSF = 1.000021e+00
S>ds

1.248443e+00
1.248095e+00
1.248916e+00
1.249799e+00

=S



SeacatPlus V 1.3a SERIAL NO. 4197 07 Aug 2011 09:43:16

vbatt = 13.9, vlith = 8.7, ioper = 62.4 ma, ipump = 75.3 ma, |
iext0l = 4.9 ma,
status = not logging o

sample interval = 4500 seconds, number of measurements per sample = 4
samples = 2357, free = 490608

mode = moored, run pump during sample, delay before sampling
transmit real-time = no

battery type = ALKALINE, battery cutoff = 7.5 volts
pressure sensor = strain gauge, range = 1450.0

SBE 38 = no, Gas Tension Device = no

Ext Volt 0 = yes, Ext Volt 1 = no, Ext Volt 2 = no, Ext Volt 3 = no
echo commands = yes |
output format = raw HEX

S>outputdddtputformat=3

35.0 seconds

S>ts

20.9064, 0.00319, -1.451, 2.7068, 0.0224, 07 Aug 2011, 09:44:08

S>tv
2.7073 0.0000 0.0000 0.0000
2.7074 0.0000 0.0001 0.0001
2.7076 0.0001 0.0000 0.0000
2.7081 0.0000 0.0001 0.0002
2.7073 0.0001 0.0002 0.0001
2.7072 0.0001 0.0000 0.0000
2.7076 0.0000 0.0002 0.0000
2.7078 0.0002 0.0000 0.0000
2.7074 0.0000 0.0000 0.0000
2.7078 0.0000 0.0002 0.0002
2.7079 0.0000 0.0001 0.0001
2.7075 0.0001 0.0002 0.0000
2.7074 0.0002 0.0000 0.0000
2.7071 0.0001 0.0001 0.0000
2.7075 0.0002 0.0001 0.0000
2.7078 0.0000 0.0000 0.0000
2.7073 0.0002 0.0002 0.0000
2.7079 0.0001 0.0000 0.0002
2.7074 0.0001 0.0000 0.0000
2.7081 0.0004 0.0001 0.0001
2.7078 0.0000 0.0001 0.0006
2.7071 0.0000 0.0000 0.0000
2.7078 0.0001 0.0002 0.0000
2.7079 0.0002 0.0002 0.0001
2.7074 0.0000 0.0001 0.0002
2.7076 0.0000 0.0000 0.0003
2.7076 0.0002 0.0000 0.0000
2.7076 0.0002 0.0000 0.0000
2.7074 0.0000 0.0000 0.0001
2.7074 0.0000 0.0002 0.0000
2.7079 0.0000 0.0002 0.0000
2.7076 0.0000 0.0001 0.0000
2.7077 0.0001 0.0002 0.0000
2.7073 0.0001 0.0001 0.0000
2.7079 0.0002 0.0001 0.0000
2.7073 0.0003 0.0000 0.0000
2.7076 0.0000 0.0000 0.0000
2.7076 0.0000 0.0000 0.0000
2.7078 0.0002 0.0000 0.0002
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2.7078 0.0000 0.0000 0.0001

2.7078 0.0002 0.0000 0.0002

2.7084 0.0000 0.0001 0.0000

2.7072 0.0000 0.0001 0.0000
S>ds
SeacatPlus V 1.3a SERIAL NO. 4197 07 Aug 2011 09:44:23
vbatt = 13.8, vlith = 8.7, ioper = 62.4 ma, ipump = 71.6 ma,
iext0l = 4.8 ma,

status = not logging

sample interval = 4500 seconds, number of measurements per sample = 4
samples = 2357, free = 490608

mode = moored, run pump during sample, delay before sampling = 35.0 seconds
transmit real-time = no

battery type = ALKALINE, battery cutoff = 7.5 volts

pressure sensor = strain gauge, range = 1450.0

SBE 38 = no, Gas Tension Device = no

Ext Volt 0 = yes, Ext Volt 1 = no, Ext Volt 2 = no, Ext Volt 3 = no
echo commands = yes

output format = converted decimal

output salinity = yes, output sound velocity = no

S>ddmmyy=070811

S>hhmmss=164415

i

=

S>ds

SeacatPlus V 1.3a SERIAL NO. 4197 07 Aug 2011 16:44:16
vbatt = 13.9, vlith = 8.7, ioper = 62.4 ma, ipump = 73.9 ma,
iext0l = 4.6 ma,

status = not logging

sample interval = 4500 seconds, number of measurements per sample = 4
samples = 2357, free = 490608

mode = moored, run pump during sample, delay before sampling = 35.0 seconds
transmit real-time = no

battery type = ALKALINE, battery cutoff = 7.5 volts

pressure sensor = strain gauge, range = 1450.0

SBE 38 = no, Gas Tension Device = no

Ext Volt 0 = yes, Ext Volt 1 = no, Ext Volt 2 = no, Ext Volt 3 = no
echo commands = vyes

output format = converted decimal

output salinity = yes, output sound velocity = no

S>initlogging

S>ds

SeacatPlus V 1.3a SERIAL NO. 4197 07 Aug 2011 16:44:27
vbatt = 13.9, vlith = 8.7, ioper = 62.3 ma, ipump = 73.0 ma,
iext01 = 4.8 ma,

status = not logging

sample interval = 4500 seconds, number of measurements per sample = 4
samples = 0, free = 492965

mode = moored, run pump during sample, delay before sampling = 35.0 seconds
transmit real-time = no

battery type = ALKALINE, battery cutoff = 7.5 volts

pressure sensor = strain gauge, range = 1450.0

SBE 38 = no, Gas Tension Device = no

Ext Volt 0 = yes, Ext Volt 1 = no, Ext Volt 2 = no, Ext Volt 3 = no
echo commands = yes

output format = converted decimal

output salinity = yes, output sound velocity = no

S>voltl=y

this command will change the scan length and initialize logging



proceed Y/N ? y
scan length has changed, initializing logging

S>ds

SeacatPlus V 1.3a SERIAL NO. 4197 07 Aug 2011 16:45:07 o
vbatt = 13.9, vlith = 8.7, ioper = 62.3 ma, ipump = 74.6 ma,

iext0l = 4.5 ma,

status = not logging

sample interval = 4500 seconds, number of measurements per sample = 4
samples = 0, free = 441074

mode = moored, run pump during sample, delay before sampling = 35.0 seconds
transmit real-time = no

battery type = ALKALINE, battery cutoff = 7.5 volts !
pressure sensor = strain gauge, range = 1450.0

SBE 38 = no, Gas Tension Device = no

Ext Volt 0 = yes, Ext Volt 1 = yes, Ext Volt 2 = no, Ext Volt 3 = no
echo commands = yes

output format = converted decimal

output salinity = yes, output sound velocity
S>volt2=y

this command will change the scan length and initialize logging
proceed Y/N ? vy

scan length has changed, initializing logging

S>volt3=y

this command will change the scan length and initialize logging
proceed Y/N ? vy

scan length has changed, initializing logging

e

no

S>ds

SeacatPlus V 1.3a SERIAL NO. 4197 07 Aug 2011 16:45:40
vbatt = 13.9, vlith = 8.7, ioper = 62.3 ma, ipump = 75.5 ma,
iext01 = 4.6 ma, iext23 = 0.3 ma,

status = not logging

sample interval = 4500 seconds, number of measurements per sample = 4
samples = 0, free = 364365

mode = moored, run pump during sample, delay before sampling = 35.0 seconds
transmit real-time = no

battery type = ALKALINE, battery cutoff = 7.5 volts

pressure sensor = strain gauge, range = 1450.0

SBE 38 = no, Gas Tension Device = no

Ext Volt 0 = yes, Ext Volt 1 = yes, Ext Volt 2 = yes, Ext Volt 3 = yes

echo commands = yes

output format = converted decimal

output salinity = yes, output sound velocity = no

S>note: Jjust making sure we capture the oxygen until I can make sense of the
con filsles

?cmd S>ds

SeacatPlus V 1.3a SERIAL NO. 4197 07 Aug 2011 16:46:17
vbatt = 13.9, vlith = 8.7, ioper = 62.3 ma, ipump = 76.2 ma,
iext0l = 4.9 ma, iext23 = 0.3 ma,

status = not logging

sample interval = 4500 seconds, number of measurements per sample = 4
samples = 0, free = 364365

mode = moored, run pump during sample, delay before sampling = 35.0 seconds
transmit real-time = no

battery type = ALKALINE, battery cutoff = 7.5 volts

pressure sensor = strain gauge, range = 1450.0

SBE 38 = no, Gas Tension Device = no

Ext Volt 0 = yes, Ext Volt 1 = yes, Ext Volt 2 = yes, Ext Volt 3 = yes



echo commands = yes
output format = converted decimal
output salinity = yes, output sound velocity = no

S>outputformat=1 o
S>ds

SeacatPlus V 1.3a SERIAL NO. 4197 07 Aug 2011 16:47:43

vbatt = 13.8, vlith = 8.7, ioper = 62.3 ma, ipump = 73.8 ma,

iext0l = 4.5 ma, iext23 = 0.3 ma,

status = not logging

sample interval = 4500 seconds, number of measurements per sample = 4
samples = 0, free = 364365

mode = moored, run pump during sample, delay before sampling = 35.0 seconds
transmit real-time = no i
battery type = ALKALINE, battery cutoff = 7.5 volts

pressure sensor = strain gauge, range = 1450.0

SBE 38 = no, Gas Tension Device = no

Ext Volt 0 = yes, Ext Volt 1 = yes, Ext Volt 2 = yes, Ext Volt 3 = yes

echo commands = yes

output format = converted HEX

S>startddmmyy=070811

S>starthhmmss=200000

start time = 07 Aug 2011 20:00:00

‘send startlater command to start delayed logging

S>startlater

start time = 07 Aug 2011 20:00:00



2649-SOGS-K (attached to Seabird and Brakner)

" Untitled:1 - Aquadopp - Deep Water
Flla Communicatlon Deployment 'o‘lew Conﬁgwatlun On-ine Help

) i|.. iL._iL.ﬂ

0"6
9:
"-a-

Current - Status System
East Morth Up Time [ 11/08/07 15:37:22| Serial no
Velocity (m/s) [(o117] [ 0117] [ 0117]  Status | Probe no
Amplitude [counts) | 32| | 32| | 32| Error Firmware
Diskfile(kB) [ 0]  Recorder [MB) |:
Speed (m/s) Sensors
Direction [deg] Temp. [deg C) Pitch (deg) :

Pressure (dBar) Roll (deg) | _
Battery (V) [ 11.2]  Heading (deg)
Sound Speed (m/s) Ainl. Ain2 [ 65535,

Battery

15 20

VISR S . - L)
[_Vehcity | Amplitude ]| Vel/Dir || Sound speed ]rTemperature || Pressure |Baltely‘ Pitch “ Roll ” Heading |[ Analog inputs || F'rofile[

For Help, press F1
i’;f start " ntikled:1 - Aquadap. ..




Deployment Planning

| Standard |

- Setup

| Measurement interval ). {600
Average interval [s): 120

Measurement load (%) 4 Auto
Blanking dist. (m]:
Compass upd. rate [s]; 1

Speed of saund Coordinabe system

(&) Measured
Diagnostics

Salinity (ppt}: | 32

O Fixed (m/s); 1525 I [MEnable

Interval (min):

] File wrapping

GENU OxXyZz (O Beam

Number of samples: |20 I

- Deployment plarining

Assumed duration (days): 120

Battery utilization

(% of B0wWh]:
Memary required [MB): |ll8 ;
Vertical vel. prec. [cm/s): |1
Harizont. vel. prec. [cm/s): |0.7

- External inputs

Input1: | NOME Z\:;l
1440 InputZ: | yoNE LY—I

i Dutput poweer

[ Start ][ Update J i

0K |][ Cancel ][ Apply ][ Help

Deployment

@statAt | 8 722011 M| [200000 (A

Lok |

() Start Now!

[C] Enable serial output / TellT ale

Cancel

Name: |2649K_ | (max B char's)

Comments:  [max 120 char's)

2649-S0GSK
STart August 7, 2011 @ 2000 UTC
Lithium Pack

Deployment : 2649K_

Current time : 8/7/2011 15:41:32
Startat :8/7/2011 20:00:00
Comment;

2649-SOGS-K

STart August 7, 2011 @ 2000 UTC
Lithium Pack



Measurement interval (s) : 600
Average interval  (s): 120
Blanking distance (m): 0.37
Measurement load (%) : 4

Power level : HIGH
Diagnostics interval(min) : 1440
Diagnostics samples 120
Compass upd. rate  (s) : 1
Coordinate System :ENU
Speed of sound  (m/s) : MEASURED
Salinity (ppt) : 32

Analog input 1 :NONE

Analog input 2 : NONE

Analog input power out : DISABLED
File wrapping : OFF

Serial output/TellTale : OFF

Assumed duration (days) : 120.0
Battery utilization (%) : 167.0
Battery level (V):11.3
Recorder size (MB): 9
Recorder free space (MB) : 8.973
Memory required  (MB): 0.8
Vertical vel. prec (cm/s) : 1.0
Horizon. vel. prec (cm/s) : 0.7

Instrument ID : AQD 2649
Head ID : 2KL 2299
Firmware version :1.21

Aquadopp Version 1.30
Copyright (C) Nortek AS

Aquadopp

'E Successful deployment!
L g

Data recording will start in 0 days,
4 hours and 18 minutes from now.

Please disconnect the instrument
from the PC before proceeding,

Deployment log file:
75NS0GN-K\2649-50GS-K.log

C:\Documents and Settings\363-6308\Desktop\Data\Deployment|2011-60({thought it was




MicroCat SBE 37 Deployment Sheet

INSTRUMENT

Serial Number:

Firmware Version:

(14

Q.6h4

Depth Rating:

Sensors@P):

Ao Ff(ﬂgfuw(

PARAMETERS
! ,
SampleNum: ,Q/ Storetime: Y !
Interval: | (Loos Syncmode: N
Navg/Ncycles: 4 Txrealtime: N
Reference pressure*: 20w OutputSV: ™
Time Zone: vTc QOutputSal: Y
Start: __ A,4 7,204 @ 2000
*only needed if there is no pressure sensor for the salinity calculation
DEPLOYMENT
Station: D043 - K Cruise Number:  Slp/) - 4 ©
Latitude: Water Depth:
Longitude: Instrument Depth: 300
Time and Date in Water:
Comments Fresh  Cal fron hictrry. of
Completed by: Date:

T aX.t 2. PT-N *Is SFRH
aoacacpr



Mooring: SOGS-K
UCats X 1
Serial 1614 - new cal, no pump

Battery Calculations:

Sampling Time:
3.33s+(2.27*(NAVG-1))
3.33s5+(2.27*%(4-1))=10.14s

Example 1: A standard MicroCAT (no external power option) with pressure
sensor is set up to sample autonomously every 10 minutes (6 samples/hour),
taking 4 measurement per sample (NAVG=4). How long can it be deployed?

Sampling time = 3.33 seconds + 2.27 seconds * (NAVG - 1) = 10.14 seconds

Sampling current consumption = 0.020 amps * 10.14 seconds = 0.2 amp-
seconds/sample

In 1 hour, sampling current consumption = 6 * 0.2 amp-seconds/sample = 1.2
amp-seconds/hour

Pump current consumption = 0.13 amp-seconds/pulse

In 1 hour, pump current consumption = 6 * 0.13 amp-seconds/pulse = 0.78 amp-
seconds/hour

Quiescent current 10 microamps = 0.01 mA

In 1 hour, quiescent current consumption = 0.01 mA * 3600 seconds/hour =
0.036 amp-seconds/hour

Total current consumption / hour = 1.2 + 0.78 + 0.036 = 2.02 amp-seconds/hour
Capacity = (5 amp-hours * 3600 seconds/hr) / (2.02 amp-seconds/hour) = 8910
hours = 371 days = 1.02 years

Number of samples = 8910 hours * 6 samples/hour = 53460 samples

Command Summary:

DDMMYY=070811
HHMMSS=160000 //(UTC)
OUTPUTSAL=Y

OUTPUTSV=Y

FORMAT=1

NAVG=4

PUMPINSTALLED=N
SAMPLENUM=0
INTERVAL=600

REFPRESS= 325 (x = pressure at which the instrument is at...only used if
there is no pressure sensor installed)



STORETIME=Y
TXREALTIME=N
STARTDDMMY Y=070811
STARTHHMMSS=200000
STARTLATER




